[ Efficiency vs vertpos |

= 0.05

T — —
4 : : :
2.0.04F e e R R RN
o : : :
_@.035— ---------- [ERRRREEEEEE,
2 : :

5 0.03F e [EEERREELEEE [ &
0.025F---------- ------------
0.02--------- ----------- &+
0.015—----------% -----------

0.0} ERPIRPRE
= - : h
0.005:—----------;,“-H-
S S A A LA
T I
o L ] ;
- EoRRRE 2 B s SR o o e

0.95 ]
1072 107

DQM
Efficiend —— Biom

2

N 0.20 ; ;
KL SR R T ittt SR
o E : :
20.16f b ] TR MR
> L . .
20.14F------ L U S S
.90.14: : :
£ 0.42F ek b
o F : :

O SRR S| R RN ST
008 bl
O 0 S R SR
) SN A NS SN HA S
002+ ferdti oo

il A P
O+ : |
T r : i
o C |

[ Rt IR R L L SRR RREERED

0935 =20 -10

10 20 30
TP vert z (cm)

[ Efficiency vs. sim

PVz |

N 0.5
>

8.0.45
0.4
£0.35

Sim

> :
g 03
o H
£0.25F - e
] .
0.2F
0.15F -+ e
0. eeees

0.05

10

Ratio

1.

i

H
TT[TTTT[TTTTTTTT

|
N
o

510
Sim. PV z (cm)




	Contents
	Page 1


